Parallelogram
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4. ABCD is a parallelogram in which
diagonals AC and BD interest at O. if E,
F, G and H are the mid points of AO,
DO, CO and BO respectively, then the
ratio of the perimeter of the
quadrilateral EFGH to the perimeter of

parallelogram ABCD is:

ABCD T FHTeaR aqder ¢ s faemof

AC 3X BD TH N g o W

gfaesfed a3 & E,F, G 3R H A

a3t Ao, DO, €O 3 BO & 7w g &
IqHS EFGH & IRAM Td FAR

gaisr ABCD & 9RATT FHT HJUld Il

a)1:4 b) 2:3

/1:2 d) 1:3
] °?




5. ABCD is a parallelogram. P
and R are the midpoints of DC
and BC respectively. The line
PR intersects the diagonal AC
at Q. The distance CQ will be
equal to
ABCD U& WA T
¥ p 3R am;r: pc 3R BC
& #egfag & @1 PR,
fasor -q?g H Q W
yiaesfed FWd 8 gff ca

frae SUeT aef?
Ac b) 22
D AC
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6- In a parallelogram ABCD , the
bisector of ~2A also bisects BC
at E, find the AD.

D ﬁ»-a"rm—cna?-rahrABcn
ﬁAAa»-rmzﬁmm
6 BC &I ﬁg 0T
aﬁ:ﬁmﬁm%l AD

A fFaer grem?

a) AB /af 2AB

c) 3AB d) 5 AB




3. ABCD is a
parallelogram. E and
F are centroid of
triangles ABD and
BDC respectively.
Find the length of EF
if length of diagonal

AC =12 cm.
ABCD TU&h  HATNN

BDC & ¥ogd §| EF 9
qFE 9dT A IR

%ot AC=12cm B
a) 2 4
c)6 48

] °



A P 6

APCR 1R & Ha\m @

25

/BXzXYzYD

8. The mid-points of the parallel sides AB and

CD of a parallelogram ABCD are P and Q,
respectively. If AQ and CP divide the
diagonal BD into three parts BX, XY and
YD, then which one of the following is
correct?

AT TP3ST ABCD #T oAt AB 3R
CD & #Aeg FAA P 3R q ¥
R AQ 3R cp BD & d\eT s
BX,XY 3iRyD H#aea g ¥R & @
FHieTaT TE 82
a)BX # XY #YD b) BX =YD + XY
d) XY = 2BX
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Q. ABCD is a parallelogram. E and F
C are mid-point of side AB and CD
respectively. DE and BF intersect
diagonal AC at X and Y respectively.

If AC = 15 cm, find XY.
ABCD UF ®HR Igsr 8] E
3R £ sromat ABIR €D % wew

A ﬁg%lDEBﬁTBFﬁHWTAC%‘T

ERFD (A all FHY g X IR ¥ W e

™ %RAC=15cm%a’r XY 9dr
ﬁ=l£37 a)2!5 5
AC ‘sTg-s\g c)7 d) 10




Jo- In the figure given below, PQRS

(]

L e
|80

S R

is a parallelogram. If
AP,AQ, CR and CS are bisectors
of 4«P,2Q,ZR and «S$
respectively, then ABCD is a
e & a$ amfa A, PQRS
TH FHATER a?ra-’isr & w
AP,AQ,CR ik cs
®T <P,,Q,.R IR 28 &
aﬁm g @ ABCD gwm?
a) Square b)rhombus
Rectangle d) None of these
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[|- ABCD is a parallelogram.
Angle bisector of 24 and

D av'e Y angle bisector of 2C cuts
extended side DC and BA at
22 25 ¢ta

Q and P respectively. If LA =
50°, find 2P + 2Q.

ABCD T& WFHATAR TN &
(AR 26 F FoTHEEIITSE

- 5.2°> g% syomsit z;;:hafh BA ®
AL a3l Q P 9T &Hled
A So & 2l 31115—'54/1—50°%a’r LP +
2Q =?
a) 25 150
c) 45 d) 100




3n 3 113m

AQ—H?)D A%+P°C+QD+DA \/L'\/
Qﬂ% +QB(_
RRLGIZER
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Coire—s 0 0, (300008 5

CL
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d a+b—£mb B9

d,s 0%b +2ob(G(-s))
fwse@ A«

QCB&'W.—3 .
n %@

d%g “9\(“%)
= 050 o +b

&

bé >< z b
I80-0
/
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|2. The lengths of two sides of a

Al parallelogram are 3 cm and

0 10 cm. What is the sum of
the squares of the diagonal

of the parallelogram?
AR aqfsr &1 ar et
2 2 ’ Eﬁf?ﬁT&"chlﬂﬁT 10cm%‘|
d, +d, = q-]-QﬂCmHO_(’)O AR waE & Rwel &
T = e GIGECJIE L]
g /418cm2 b) 109 cm?

c) 206 cm? d) 169 cm?

SSCCGL T2, 15 Nov 2020 12
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13- In the following figure, ABCD
is a square and ABE is an

dAW"'“Q hr'Seck ! C equilateral triangle drawn on
Jhaﬁj&» ot M E its side. Find ZAFB, if AC is

the diagonal of the square.
verlix in 1 F farsr R & ABCD uF T ¥
3 ABE 6 I & 3o W &
/‘Sjlf\-W(Khwbw g TF wAeg BEs ¥ IR
Ac =@ T F1 [E @ a
! LAFB=?

A ' B A 750 b) 60°
c) 45° d) 65°




[Y. In the following figure, ABCD

D 150 @ is a square and BCE is an
< a0 ' equilateral triangle drawn on
\L\ bo - its side. Find 2DEB.
' 6o 7T @9 & ABCD TF T §
T 1 w E 3R BCE & Tt A spom W e
g3 UF HHSTE ﬁraﬁr 8| <DEB
29
A f B a) 75° b) 60°

A45° d) 65°




|6+ If ABCD is a square . X is a
point on CD, such that DX =

> M 2( C DO. Find 222X 0 is the
M \5S . . 2X0C .
Ys “a intersection point of
5 »s@/O diagonals.

/DOY _425 2 3 39X ABCD UF ot ¥ %é

ey ol CD W L' C Ly
£D0C X0 o DX=D0 # oo g R
X R 0 R #1 SRSRA fag

¢ o
a)2:1 b) 3:2
A & c) 5:2 13:1




]+ ABCD is a square. M is the mid-point of AB and
D C N is mid-point of BC. DM and AN are joined and
they meet at O. Then which of the following is
correct?

ABCD T& T3 & M, AB &1 #Heq fag & 3t N, BC &1
#ew fig 8] oM 3R AN F ST SET ST @ oar

0
?ﬁmﬁﬁﬁmﬁfr Har 8?

a) OA:OM =1:2 AN:MD =1:1
A \_,H-M_\/g c) 2ZADM = £ANB d) ZAMD = 2BAN
ADA N\%’ABANEASJ
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|#-The ratio of £ Aand 2 B
of a rhombus

b ,C ABCD is 45, \then the
20 value of_z Cis 2L #A0
80 oD HIT £ AR LB HT AT
y 5 4:;5 § @ 2C 9d1 R
N~ a) 50 b) 45
A R A80 d) 100
X2




|9 ABCD is a rhombus whose
side AB=4cm and
£LABC =120° , then
length of diagonal BD is
equal to
ABCD TH WA TS ¢

fS9a AB=4cm 3 ZABC =
120° & @ f*ot BD &t

qFETS

a) lcm b) 2cm

c) 3cm jlﬁ)’4cm




B

A0 % olkihnde in AABD.
J’\z\bq A
2

21



50 Rhawins howivg am o = 63120
Smalllh dia. = Aide = &

fwyx Ma= J2 Gids g

a

z

|




|. A rhombus of side 28 cm haf

What is the length of the larger
diagonal? 222
28 cm ST a1 WHAJHS T Th HI0T

60° ¥ 95 RFT A FTFAE AT B
a) 28(1+V3)cm b) 28 V2cm

c) 28 cm /:)28\/§cm
P W\alﬁx_;—gg

SSC CHSL 04 Aug 2021 54 23
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20. One diagonal of a rhombus is 8V3 cm. If

$2=[3

the other diagonal is(@qual to its@then
the area (in cm*) of the rhombus is:

frdl gawQeist &1 vk fawot 8v3 em.
¢ AR gEA fawol, sWA s & W
g, a’rmﬁammﬁr(cmz M A
AT

a) 12+/3 b) 24+/3

c) 16v3 A1323

| SSC CHSL, 12 Apr 2021 Si, 24



2). Find the difference between
the lengths of both the
diagonals of a rhombus with
one angle as 30°, if the side

measures
2242 T & A ot

N TFAS P T TABT R
AT Y aFa1S 4 cm ¢ 3R T

30° &T §.
a) 4V6 b) 2v/6
c) 2v2 A4z

| | 25



22-ABCD is a rhombus. A line
passing through C cuts
extended line AD and AB at
Q and P respectively. If

QD =2 AB. Then find the

ratio AB to PB.

ABCD W& gHaqges 8] g ¢
@'WWWWT@T
a'c.f’rgéaaonaﬁTABa?‘r
FAU fegit Q@ WM P W

Fedt 8| @D=,4B ¥ @

- AB:PB TdT &|
a)2:1 b) 1:1
A1:2 d) 1:4

| | 26



23. ABCD is a rhombus. AB is
produced to F and BA is
produced to E such that
AB=AE=BF. Then:

ABCD T HH TIJHT ¢] AB FI F
% 3 BA FT E d% 3@ e
SSMT ST § fF AB=AE=BF &
SITe| ar:

ED > CF

D is perpendicular to CF

XED//CF
d) ED? + CF? = EF?




2Yy. If ABCD is a rhombus, then:
D c. 3T ABCD TS §H Tl ¢ ar :
AC?> + BD?> = 4AB*
b) AC?> + BD?* = AB?
c) AC?> + BD? = 2AB*
d) 2(AC* + BD*) = 3AB*?

A— T8
AC+BY= AQHRCH Ch S 0a—
=V P‘P)L
= MB(:L
ol L{(‘OL
~i U\DAL




95.The locus of a point in rhombus ABCD which
( is equidistantfromAand Cis
FHIAJAS ABCD & farelt faquy st f&

O Collehov Begst

ST
A3R c® AR gff W &-
% 91"\2‘S a) A fixed point on diagonal BD
4 fawot BD W vF Pux g
ok A8 Diagonal BD fa&vt BD
PWH‘ 7[DVW\2¢/c) Diagonal AC fa=vl Ac

£ b? Pg:"d’g d) None of the above ga& & H1E 7!
@
A C

| CDS 201211 | 29
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